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O CYS-NET &g & 0f2t2% Z &l
7,000& = 221 = 23| = 10& 280
| 140
e 140
03 A2 Z Hl 17,520 21,250 A3,730




M AR =X
Hm: HAW 25 Y 84
ol HAW S4 CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OfIJIIEaE XNJABZ 1,352,000& * 102l 13,520
J| 6,760
i 6,760
ORI EASAs Aeld A 500,0008 * 13 500
| 250
i 250
ORAJNI¥axEES A8t Nk &4
750,000& * 23l 1,500
| 750
= 750
OCYS-NET 2= ¥ 29 500,000& = 43| 2,000
J| 1,000
s 1,000
202 odl 2,640 1,880 760
| 1,320
= 1,320
01 = LH YI 2,640 1,880 760
OCYS-NET Z2 & X0 bl
20,0003 * 41t= « 8& 640
J| 320
s 320
Oagg oia U AL HA 0
120,000& = 16.66=l 2,000
J| 1,000
s 1,000
iU T2 H2H 85,392 41,500 43,892
101 1A Hl 54,892 0 54,892
M4 JI2ZHZEXNSES 54,892 0 54,892
OFAEXNEA =S¢
1,620,000& » 201 = 12& 38,880
OHLERXTA A2 RSE
7,526 * 201 x 62 x 12F 1,084
OBAEXEA BL224Y
60,2102 = 201 » 2.53| » 12& 3,613
OFLAUEXTA EXANEZ
43,200,000& = 1/12 3,600
OFLEXIT AL ADIE A HI
40,1403 = 221 x 10 803
OHELERXNETAMN AMIIBEZ JI2RES
43,200,000 = 16% 6,912
201 L2l 30,500 41,500 A 11,000
01 At 22l 1,000 0 1,000
OFrUSOl2 446 L A2ETY
250,000& * 43| 1,000
03 &AL Z I 29,500 41,500 A 12,000
OAglnsZZ2 )8 ZAtZ
500,000& » 191t= 9,500
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Hm: HAW 25 Y 84
el AW S4 (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFA2EEZ30tY 2,000,000& = 53] 10,000
OBAUEIHEY Z218 29
3,000,000& * 12/ 3,000
OBAd MNPE2sOe 29
1,000,000& * 53] 5,000
OrZHT Tz ) 29 2,000,000& * 13l 2,000
dAE 2ot E MU= 1,250,000 0 1,250,000
= 1,000,000
= 250,000
401 Al HI & 28I 1,250,000 0 1,250,000
= 1,000,000
= 250,000
01 A& HI 1,250,000 0 1,250,000
OusE ¥AW 2319 & A
1,250,000,000& * 14l 1,250,000
= 1,000,000
= 250,000
HAEAGHEH 2EXA 69,000 64,000 5,000
< 21,700
s 47,300
101 1A Hl 49,698 49,783 A 85
< 14,909
s 34,789
04 JIZHHZ2XREES 49,698 49,783 A 8b
oagd =0 1,100,000& * 221 = 12& 26,400
< 7,920
2 18,480
onga gy
1,100,000 * 1/2 * 221 * 23| 2,200
< 660
[ia 1,540
OaEgd ZAg A 110,000& = 221 » 12& 2,640
S 792
2 1,848
Oxg® HANAL, BEEIH
1,100,000& = 221 » 3.5& 7,700
< 2,310
2 5,390
Oatgrel A9 45
7,5333 * A2t « 2021 « 6 452
< 135
s 317
Oagd gAaMEZ 40,040,000& = 1/12 3,337
< 1,001
s 2,336
OaEd A28 =2E3 40,040,000 * 16% 6,407
< 1,922
s 4,485
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2N AS =X
M MAE
cel: MAW 8

SPNEREY (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
405 RHoHE S HI 600 0 600
< 180
e 420
01 AL EZFH S 600 0 600
OREE 0/S0t0I3 2 300,0008 * 2JH 600
= 180
s 420
FAaE NJFEZ2OY 29 169,000 144,591 24,409
= 81,500
J| 3,000
[ia 84,500
SSELESEANLE 2208 29 6,000 2,000 4,000
J| 3,000
[ia 3,000
307 21201 A 6,000 2,000 4,000
J| 3,000
[ia 3,000
10 A3l S X2 = 6,000 2,000 4,000
O33FAUHSBANE T2 29
1,000,000 * 63l 6,000
J| 3,000
s 3,000
g 2= O30l 163,000 142,591 20,409
= 81,500
[ 81,500
101 1A dl 72,693 64,517 8,176
= 36,346
[ 36,347
04 JI12ZtHZ22HEE = 72,693 64,517 8,176
OFAEXNEA ¢
1,580,000& * 321 = 12& 56,880
= 28,440
[ia 28,440
OFLAEXETA EXANEZ
56,880,000& * 1/12 4,740
= 2,370
s 2,370
OFAEXNEA ASIEERES
56,880,000& * 16% 9,101
= 4,550
[ia 4,551
OFLEXIT AL ADIE A HI
40,140% * 321 = 7 843
= 422
s 421
OFHLEXIT AL Al2IIE
7,526 * 321 = 5AI2F « 108 1,129
= 564




AN ALEI =X

=R PNERCEJCTRE Y

- = To
e HAdE JEZzz)d &9 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 565
201 gEt24H | 60,023 38,978 21,045
= 30,012
= 30,011
01 AP 22| d| 8,926 0 8,926
Ogr=02H4I0l A28 2
112,600 = 103 1,126
= 563
= 563
OYU=0I2tAI 0l 2l A XHE|
650,000& * 123l 7,800
= 3,900
= 3,900
02 B232%H| 1,800 0 1,800
Og=0I2tdl0l Xt&E2HHl 200,0008 * 93] 1,800
= 900
= 900
03 A2 G HI 49,297 38,978 10,319
Oet=0I2t4I0l ZE2 0329 2AHH]
270,970€ = 102 ~ 102 27,097
= 13,549
= 13,548
OBtNS0I2t4I0 E2dey9 H|
570,000& = 203 11,400
= 5,700
= 5,700
Ogt=ol2tdl0l ol MEss
300,000& » 363 10,800
= 5,400
= 5,400
202 o4 Hl 500 3,600 A 3,100
= 250
= 250
01 2L HI 500 3,600 A 3,100
OXNEZA A & A7 4 FA 4|
120,000 * 4.163] 500
= 250
= 250
307 2Iz2to| A 29,784 35,496 N5, 712
= 14,892
= 14,892
10 Al EXE X 29,784 35,496 NB,712
Oet=02t4l 0l Otls=4 X
3,400 * 40Q1 x 219¢ 29,784
= 14,892
= 14,892
FAAS Ols ES 3,550,606 3,041,937 508,669
= 990,707
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SH: AS =X D
ZE: HUNE O 25
Sl ANE0ERS

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 750,362
< 807,963
e 1,001,574
ANE0tsES 894,654 759,163 135,491
& 573,464
< 164,915
i 156,275
Ol MEAE 2F2e 5,040 5,040 0
202 oddl 300 300 0
01 = LH o4 1l 300 300 0
OOsS=XAE ANEFZ Wl
20,000& = 15 300
301 et d = 3,600 3,600 0
01 MEIBEZE 405z 3,600 3,600 0
O BERZ 30,000& = 50Q! = 23] 3,000
O=HY HUMAT EAL
30,000& = 10! = 23] 600
307 21201 A 1,140 1,140 0
10 ALl S X2 = 1,140 1,140 0
OOS=XAE SAA RnsE4A
30,000& = 62! * 33 540
OZ& Ots =&s FA&AH XA
600,000& * 12 600
ANEOts s3I 3,000 3,000 0
< 1,500
e 1,500
307 glz2+ol & 3,000 3,000 0
< 1,500
e 1,500
10 A3l S X2 = 3,000 3,000 0
OAIE0ts tHstalst it = 1,000,000& = 3¢! 3,000
< 1,500
s 1,500
ANE0ls das8s 13,080 18,800 25,720
< 6,540
s 6,540
307 21201 A 13,080 18,800 A5,720
< 6,540
s 6,540
10 A2l =S X2 X 13,080 18,800 25,720
OANE0ts 8=
22,708.3333& = 482! x 123 13,080
< 6,540
[ia 6,540
ANEOls 25 ¢ 13,200 17,760 A 4,560




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

Mo

6,600
6,600

307 21201 A

EURLY

13,200

6,600
6,600

17,760

AN 4,560

10 At3l = X

2
OAlE0ts d42=2 2L

20,000% = 55¢1 * 12&

e

Mo

13,200

13,200

6,600
6,600

17,760

A 4,560

0x
0z
K
(=]
>
i
0z
L
oy

M H

10,500

5,250
5,250

4,500

6,000

307 21201 A

UL

10,500

5,250
5,250

4,500

6,000

1,500,000& = 7¢I

EURE

10,500

10,500

5,250
5,250

4,500

6,000

Mo

22,800

18,240
4,560

24,000

A1,200

307 glztol &

M

22,800

18,240
4,560

24,000

A1,200

10 Al S X2 X

OOtS=XNAE SAXL SEE+E
3.

86,363.6363% * 22¢1 * 12&

o

UL

22,800

22,800

18,240
4,560

24,000

A 1,200

OtSSXAIE 28 X&

A

811,734
568,214
121,760
121,760

677,763

133,971

307 glztol &

A A

811,734
568,214
121,760
121,760

677,763

133,971

10 Al SX2X

OO0ts=XA4 2gH K&
67.,644,5008 * 1200 &

H A

811,734

811,734
568,214
121,760
121,760

677,763

133,971

AL

10,500
5,250

4,500

6,000
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2N

X ZH
S =

el

Aa=
]
NELL

X

=
=]
=
=)

o
0
2

ts 2

=l

fol

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 2,625
- 2,625
307 gizto| A 10,500 4,500 6,000
= 5,250
& 2,625
= 2,625
10 Al S X EX 10,500 4,500 6,000
O A0ts AN EdE=EZ2 N
1,500,000 = 7¢QI 10,500
= 5,250
=} 2,625
= 2,625
AE0tS =80 & 2,200 1,800 400
& 1,100
= 1,100
307 gizto| A 2,200 1,800 400
& 1,100
= 1,100
10 Al SR EX 2,200 1,800 400
OA&EO0tsS =80 &l 100,000& = 220! 2,200
== 1,100
= 1,100
AE0tS =32 2,600 2,000 600
o= 1,300
= 1,300
307 212t0| & 2,600 2,000 600
o= 1,300
= 1,300
10 MM S X EX 2,600 2,000 600
OAN&E0tsS n=E324d| 200,000& = 13¢@l 2,600
& 1,300
= 1,300
HASOESEX 2,655,952 2,282,774 373,178
= 990,707
= 176,898
& 643,048
= 845,299
AEAE REINHOISKASE 14,430 5,580 8,850
301 Bt A= 1,430 2,580 A 1,150
01 AISIE & A 462 1,100 2,250 A 1,150
O4A"dAEHIAE & QEs E2MAXE
100,000 = 11AICH 1,100
09 SHAIAHI E A2 330 330 0
ORYHE 0 EAUZE L SHAIEHAE A
50,000& = 39l 150
OJIE/AE0S HAIRASE A 30,000& * 692l 180
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2N
X ZH -
L= B

el

2>

ts 2

=X

T

in =

o oy =

o &
o

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 13,000 3,000 10,000
10 Ml SXIEX 13,000 3,000 10,000
OLAEMNEHIME AFZ 2 OHEHEH AL
3,000,000& = 13| 3,000
Og92 el ¥ 2&X 10,000,000& = 13 10,000
LESOISYYHIXA 45,940 38,498 7,442
= 32,158
& 6,891
= 6,891
301 et A= 45,940 38,498 7,442
= 32,158
& 6,891
= 6,891
01 M| EXEE 2562 45,940 38,498 7,442
OotseI X AHX XS
22,001.9157 = 17421 x 12&€ 45,940
= 32,158
o=} 6,891
= 6,891
AEAEINE £ AEOISHN /AZ2z2 A 8,640 14,400 A5,760
= 4,320
= 4,320
301 et A= 8,640 14,400 AN5,760
= 4,320
o 4,320
01 Al B & X 262 8,640 14,400 A5,760
OAaEAHIIIE & AES MURZS
20,000 * 3621 x 12€ 8,640
= 4,320
= 4,320
AEAEHIIE 2 AEOISHU HE MU 4,200 6,000 A 1,800
= 2,100
= 2,100
301 et A= 4,200 6,000 A 1,800
= 2,100
= 2,100
01 Al B & A 462 4,200 6,000 A 1,800
OaEAHIIE & AEOSHU EEH =0
50,000 = 42MICH = 23] 4,200
= 2,100
= 2,100
AEAEHINE 2 AEOIES WEStHASRZ2 KN 5,000 5,000 0
= 2,500
= 2,500
301 et A= 5,000 5,000 0
= 2,500
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SN ALSI S X
M HAHES Ot BS
thel: HASOotsS =X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 2,500
01 MEIBEE 263 5,000 5,000 0
OAEAUHIIE & AAE0s WSS k=
1,000,000& =* 5¢! 5,000
< 2,500
[ia 2,500
IIEE L= 86,400 68,400 18,000
& 69,120
= 8,640
e 8,640
301 et a s 86,400 68,400 18,000
& 69,120
< 8,640
e 8,640
01 MEIBEE 2053 86,400 68,400 18,000
OJNYEIsSLSIA
120,000& = 602! » 128 86,400
& 69,120
< 8,640
[ia 8,640
JIIERIEOlEs doll28g s X& 2,989 5,811 N2,822
= 2,093
< 448
[ 448
301 et a = 2,989 5,811 N2,822
= 2,093
< 448
e 448
01 MEIBEE 2053 2,989 5,811 A2,822
OJNE?E0S doll2E8 X&
64,978.2608& * 462! 2,989
= 2,093
< 448
2 448
AAots =4 XA 41,330 18,035 23,295
= 28,932
< 6,199
e 6,199
301 LerEa = 41,330 18,035 23,295
= 28,932
< 6,199
e 6,199
01 MEIBEE 2053 41,330 18,035 23,295
OYYOIS FE2Y
147,235.507& * 2321 * 12& 40,637
2 28,447
< 6,095
[ia 6,095
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115,500& » 121 * 6&
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485
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b
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0K
Jon
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O
w
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s INR|

H

246,400
246,400

206,625

39,775

307 21201 &

H

246,400
246,400

206,625

39,775

10 AFRIS X2 X

Ooshlls E.2e2¢

5008 » 64021 » 110€

H

246,400

246,400
246,400

206,625

39,775

M H AL

214,463
107,231
53,616
53,616

230,963

A 16,500

307 21201 &

H A

214,463
107,231
53,616
53,616

230,963

A 16,500

3,500 = 64521 x 952

M H AL

214,463

214,463

107,231
53,616
53,616

230,963

A 16,500

1y

ks
=}
O
]

)

I XI&

J

M A

1,094
547
274
273

1,094

307 21201 &

H A

1,094
547
274
273

1,094

10 AtEl =X

2x
2a0ts =

AlHl X &

2,997.2602& * 12 » 365

M AL

1,094

1,094
547
274
273

1,094

19
=)
Om
[x
m
il
s
-
0

EUNL

400,820

40,082
360,738

304,000

96,820

307 21201 &

EUNL

400,820

40,082
360,738

304,000

96,820
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SN ALSI S X
HE: HUNE OIS B35
thel: HASOotsS =X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 A3l S X2 = 400,820 304,000 96,820
OX<gotsHdH A8 XA
3,500& = 409¢! » 280 400,820
< 40,082
[ 360,738
ANeotsdy 243 XA 11,000 11,000 0
201 L4l 6,000 6,000 0
03 & Ar2 I 6,000 6,000 0
OMIISXNAE SALL £ ESTH SEs
6,000,000& * 14! 6,000
307 glz2+ol & 5,000 5,000 0
10 AtEI =X 2 X 5,000 5,000 0
OXdotsHE stotsSthHal X
5,000,000& * 13l 5,000
NEotsdEH 2 X 959,760 872,020 87,740
= 479,880
< 239,940
s 239,940
307 gl & 959,760 872,020 87,740
= 479,880
< 239,940
fia 239,940
10 AtEI =S X2 X 959,760 872,020 87,740
OXgotsHH Jle=2Il
4,133,333& ~ 1800 + 123 892,800
= 446,400
< 223,200
s 223,200
ONE , SE=38g XdotsdH 2l
800,000& = 34 = 123 28,800
= 14,400
< 7,200
i 7,200
OXgotsHdH EQ22
530,000& = 6 = 123 38,160
= 19,080
< 9,540
s 9,540
NE0otsdE Ots=X WAXA 209,520 190,800 18,720
= 146,664
< 31,428
s 31,428
101 14 Hl 209,520 190,800 18,720
= 146,664
< 31,428
s 31,428
04 JIZHHZ22XEE S 209,520 190,800 18,720

_27_




SN ASEXD
B FKE O 25
S MASOsSSEKX (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OO0ls=S X W AF 21 24H|
836,666.666% * 182! x 12& 180,720
= 126,504
= 27,108
= 27,108
O0ls=S XA AIgIEEZ2 & EANE 2
160,000& = 15021 * 12& 28,800
= 20,160
& 4,320
iy 4,320
I - JIAREOS Alexzs A& 1,400 948 452
= 980
[ 210
= 210
301 et A= 1,400 948 452
= 980
< 210
= 210
01 MBI EEE G2 1,400 948 452
O IIESEOE M2AXR XY
200,000& = 12 = 7€ 1,400
= 980
& 210
= 210
CEAEIE dHH 29 401,966 300,000 101,966
= 300,000
= 101,966
101 2121 4| 172,814 80,280 92,534
= 109,848
= 62,966
04 JIZtHI22XNSE S 172,814 80,280 92,534
OAtdl 22l 820l ol
1,600,000& = 3¢ x 12&€ 57,600
= 57,600
OArgll 22| 8201 ol AHH| FIHK&
1,600,000& = 491 x 9. 3375& 59,760
OAlgll 22| 820l HESIHY|
229,000& * 721 % 23| 3,206
OAlgll 22| 8201 AISIEE =
137,000& = 721 x 12&€ 11,508
= 11,508
OAlgll 22| 8201 g adgZ
125,000& = 721 x 12&€ 10,500
= 10,500
OAtdl 22l 8202 (Y|
20,000& = 791 = 8 x 128 13,440
= 13,440
OAtgll 22| 820l NsE;A AHH|
120,000& * 72! % 33| 2,520
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M AR =X
B FKE O 25
thel: HASOotsS =X (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 2,520
OAtdl 22l 8201 A2t =%
8,500 * 20AI2t » 721 * 12& 14,280
= 14,280
201 L2l 93,020 74,100 18,920
= 78,020
fia 15,000
01 At 22l 24,920 37,640 AN12,720
Oget=&H| 21,920
OEHAEE S3ME 2 7Y
700,000& = 123 8,400
= 8,400
OEZAEEHNH 2ZHl  700,000& » 12& 8,400
= 8,400
OCYHAEHEAMNY ARUE W=H
120,000& * 70l 840
= 840
OLEEAEBHEMY HEFMN SEH|
7,000 = 32 = 152 « 123 3,780
= 3,780
OSEHEEANAE ctojldA e
500,000& =« 14! 500
= 500
O [2E€=¢] 3,000
OEZAEEHNH 28923 & #HUIOIN
oo =g 100,000& = 1521 * 23] 3,000
= 3,000
02 8323l 13,500 8,460 5,040
Ool2222 ¥ MAI 8,400
OCEHAEHENH 323 ¥ HMA3US
700,000 = 12& 8,400
= 8,400
O[xt&setyl] 5,100
OCSEAEEHH XNSERFH
400,000& = 123 4,800
= 4,800
OCSEYAEIEHMH Xt Hl
100,000& * 33l 300
= 300
03 &AL E HI 54,600 28,000 26,600
ONszds 5 =208 24
5,000,000& = 63l 30,000
= 30,000
Oz g 2278 29 XA
5,000,000& = 33l 15,000
OZz21d 0I&0ts 2+4ldl
2,000& = 4021 = 20 » 6& 9,600
= 9,600
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X ZH -
L= B

el

NEE
FHoNE OlE 25
HASOlE=X

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
202 o4dl 9,360 10,800 A 1,440
= 9,360
01 = LH o4 1l 9,360 10,800 A 1,440
OEEHARE s & 22=Z ¢yl
120,000& = 321 = 63l 2,160
= 2,160
OSEYAEIEMY 2WHEE WY
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I 2HAHI (MRS XD

el

X ZH
S =

Akl = X1 ot

Jl=23tl

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HE2HZ U (ALSI =Xt 61,700 70,979 N9,279
Jl= &l 61,700 70,979 A9,279
F===X¢E JI=23Hl 25,300 26,800 A 1,500
201 Let249] 12,500 14,000 A 1,500
01 At 22l 12,500 14,000 A 1,500
Olger=&tl] 9,000
ORAN2YE SHAH& 9,000,000& * 14! 9,000
Ol=&Hl] 3,500
ORN2E SUNY 3,500,000 = 14 3,500
202 44l 8,600 8,600 0
01 S LHOIYI 8,600 8,600 0
FN2ISHA L 8,600,000& * 14! 8,600
203 YR =&l 4,200 4,200 0
04 FN2ELRZ=TH 4,200 4,200 0
ORN2IYSZ=AHI 4,200,000& * 14! 4,200
HEZME JI23Hl 11,000 11,200 A 200
201 L2l 6,000 6,000 0
01 At 22l 6,000 6,000 0
Oflget=&Hl] 3,000
ORA2E SHAL 3,000,000& = 14l 3,000
Ol=&tl] 3,000
ORAN2E SHAHL 3,000,000 = 14 3,000
202 Odl 5,000 5,200 A 200
01 = LH 4 Hi 5,000 5,200 A 200
ORNM2YE SHAY 5,000,000& * 14! 5,000
lazelg JI=234l 11,600 10,960 640
201 L2l 6,000 5,020 980
01 At 22l 6,000 5,020 980
Olget=&Hl] 3,000
ORAN2E SHA L 3,000,000& = 14l 3,000
Ol=&tl] 3,000
ORAN2E SHAL 3,000,000& = 14 3,000
202 O4dl 5,600 5,940 A 340
01 = LH 4 Hi 5,600 5,940 A 340
ORNM2YE SHAY 20,000 = 491 = 70 5,600
dA4EE J22Zdl 6,000 0 6,000
201 Lt 4,000 0 4,000
01 At 22l 4,000 0 4,000
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S A AL ST
M HNY2AAH| (A3 =X D)

¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

Oflget=&Hl] 2,000
ORA2E SHA L 2,000,000& * 14l 2,000
O[=&tl] 2,000
ORA2E SHA L 2,000,000& * 14l 2,000

202 Oddl 2,000 0 2,000

01 S LHAYI 2,000 0 2,000
ORNM2Y SHAY 2,000,000& * 14 2,000

Ots=XE Jl=3l 7,800 0 7,800

201 L2l 5,000 0 5,000

01 At 2t 2l 5,000 0 5,000
Ol=&Hl] 2,500
ORA2E SHA L 2,500,000& * 14l 2,500
Olget=&Hl] 2,500
ORAN2E SHAL 2,500,000 * 14l 2,500

202 O4dl 2,800 0 2,800

01 SLHAYI 2,800 0 2,800
ORNM2YE SHAY 2,800,000 * 14 2,800

HRES (A= X1 100,000 100,000 0

HEAHHK = 100,000 100,000 0

Hegdlga =4 100,000 100,000 0

702 JI2EEZS 100,000 100,000 0

0MII3EES 100,000 100,000 0
ougegrIIa dE3 100,000,000 * 13l 100,000
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